Math 302 — Advanced Cryptography Spring 2025

Problem Set #1, Supplemental Problem
Decrypt the following message:

RITF DRLW EOOF WCJX FQCX BCPC RITF DRLW EOOF WCJX FVCK JQYC
SKLO VCRI TFDX BKXK TJRL TFXW BFUR THRX KWRJ CVRI CRXJ FTXL
CKTK TYXB RTHR ITFD RXWR LOFP XKTX RJFR BFTC WXVY JFQE XDCP
CXKV IRTH KQFE XOPK NXRN CLKT DBKX KPCD CXKV IRTH KQFE XOPK
NXRN CDCP CXKV IRTH KQFE XOPK NXRN CLKT DCPC XKVI RTHK QFEX
OPKN XRNC DCPC XKVI RTHK QFEX OPKN XRNC DCKR TXXK VIRT HKQF
EXXB CHKL CDCP CXKV IRTH KQFE XOPK NXRN CLKT DBCT YFEN FLCX
FXBC KPCT KKTJ YFEW CCLC OVKY YFEW CCLC OVKY JFTX YFE

You should turn in a one to two page writeup that explains your analysis that allowed you to find
the plaintext or the different approaches you attempted if you were unable to break the cipher. In
the latter case, your score for this problem will be based on the quality of your failure.
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